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1-10 90 80 70 60 50 40 30 20 10 0

Antworten

Bsp. 60

1. 52

2. 72

3. 144

4. 75

5. 60

6. 60

7. 136

8. 102

9. 162

10. 51

Wende das Distributivgesetz an um jede Aufgabe zu lösen.

Bsp) 12 × 5 = (6 × 5) + ( 6 × 5 )
=

6030 + 30

1) 13 × 4 = (6 × 4) + ( 7 × 4 )
=

5224 + 28

2) 6 × 12 = (6 × 7) + ( 6 × 5 )
=

7242 + 30

3) 16 × 9 = (6 × 9) + ( 10 × 9 )
=

14454 + 90

4) 5 × 15 = (5 × 7) + ( 5 × 8 )
=

7535 + 40

5) 12 × 5 = (2 × 5) + ( 10 × 5 )
=

6010 + 50

6) 5 × 12 = (5 × 8) + ( 5 × 4 )
=

6040 + 20

7) 8 × 17 = (8 × 8) + ( 8 × 9 )
=

13664 + 72

8) 17 × 6 = (7 × 6) + ( 10 × 6 )
=

10242 + 60

9) 9 × 18 = (9 × 9) + ( 9 × 9 )
=

16281 + 81

10) 17 × 3 = (7 × 3) + ( 10 × 3 )
=

5121 + 30
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